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1. Introduction
This contribution a summary of different views and approaches previously discussed on utilizing the next largest channel bandwidth than the operator licensed bandwidth.

2. Discussion
[bookmark: _Hlk24027289]In this contribution, further discussion on creating new channel bandwidth by means of utilizing the net wider channel bandwidth with only scheduling a subset of RBs.  In both the UE and BS the larger bandwidth would be configured however the difference in channel bandwidth is calculated in remaining RBs which is blanked.  In the example below a 10 MHz CBW is assumed however only 7 MHz is scheduled.  
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Figure 1: Example of 7 MHz operator license bandwidth with 10 MHz UE CBW
By using this general principle where the remaining RBs would need to be decided, one approach could be to place all the unusable RBs on either end of the active RBs.  Another approach, as illustrated in the example above, would be to ensure all the usable RBs are in the centre of the channel BW whilst ensuring equal number of RBs on either side of the licensed bandwidth.  
Observation: RB placement needs to be further considered.
One example is UE edge PRB EVM requirement, if the requirement applies to the 10 MHz channel bandwidth, in the above example, will the movement of the 7 MHz allocation be required to move onto left or right edge of the 10 MHz channel for testing?  Will both edges be required for testing?
Since operator licensed bandwidths are not considered for conformance, it is unclear which bandwidth should be considered as the bandwidth which conformance requirements should be applied to such as emissions mask.  If the mask is chosen for the larger bandwidth this would most probably not be an issue to meet as the number of RBs would not occupy the full bandwidth allowing for more relaxed filter requirements.  On the other hand, this may not ensure meeting regulatory bodies for license conditions which would apply for the irregular bandwidth not the next larger bandwidth.  
Additionally, with the scenario in which operator bandwidth with the same next largest CBW, for example 15 MHz with 11 MHz or 12 MHz there becomes a benefit for the 11 MHz scenario in which some requirements become easier to fulfil as there are more unusable RBs to help provide a larger spectral emissions mask.  Although in this example both scenarios are having a smaller license bandwidth than the channel bandwidth.  
Observation: Emissions requirements based upon wider channel bandwidth which may not meet regulatory license conditions
For receiver requirements the requirements currently state where the interferer should be placed relative to the channel band edge.  In order to ensure the receiver’s ability to receive a wanted signal for the channel frequency in question, adjacent channel selectivity (ACS) requirement is essential.  The presence of an adjacent channel signal with specific center frequency offset of the interfering signal at the band edge of a victim system is determined.  If the offset is determined using the larger bandwidth this may not ensure that sufficient protection towards the victim system is met.    
Similar to the ACS requirement, in band blocking accounts for the placement of the interfering signal offset is considered by the operating band characteristics.
Observation: Using the larger bandwidth approach may not provide sufficient protection for ACS and blocking requirements.
For BS demodulation requirements the payload and allocation of RBs would also need to be considered.  If the larger bandwidth is configured with only usable RBs (licensed bandwidth) this would reduce the overall throughput performance if the difference between the active configured channel bandwidth and the wider bandwidth.    
For UE requirements, how does the requirements apply – for the UE CBW illustrated above or only the active (green) RBs shown in Figure 1.  If in order to ensure adequate conformance requirements only the active RBs are considered, then how would this be different from a new standardized channel bandwidth.  
For both UE and BS, if the larger channel bandwidth approach requires different set of conformance requirements and testing compared to the channel bandwidth the disadvantage comes to possibility to require adding more testing due to the new configurations (i.e. active PRBs only) in addition to the configured channel bandwidth. 
Observation: Additional conformance testing may be needed for partial use of channel bandwidths

3. Conclusion
The following observations have been discussed in this contribution.

Observation: RB placement needs to be further considered.
Observation: Emissions requirements based upon wider channel bandwidth which may not meet regulatory license conditions
Observation: Using the larger bandwidth approach may not provide sufficient protection for ACS and blocking requirements.
Observation: Additional conformance testing may be needed for partial use of channel bandwidths
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